VCE & PDF https://www.passapply.com/cwdp-303.html|
2024 Latest passapply CWDP-303 PDF and VCE dumps Download

PassApply.com

CWDP-3039%4s

Certified Wireless Design Professional

Pass CWNP CWDP-303 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://lwww.passapply.com/cwdp-303.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by CWNP
Official Exam Center

After Purchase

Guarantee

Free Update SKTISFACTION GUARANTEEp

Satisfied Customers

Q00O

Latest CWDP-303 Dumps | CWDP-303 PDF Dumps | CWDP-303 Braindumps 1/3


https://www.passapply.com/cwdp-303.html
https://www.passapply.com/cwdp-303.html
https://www.passapply.com/cwdp-303.html

VCE & PDF https://www.passapply.com/cwdp-303.html|

2024 Latest passapply CWDP-303 PDF and VCE dumps Download
P-

1I8S Annlv com
doof ’-_:Jl'l_\f.-.-w-

QUESTION 1

When surveying an existing WLAN infrastructure for a possible redesign, you use two Wi-Fi USB adapters to collect
RSSI data and two USB spectrum analysis adapters to collect RF spectrum data. Since your laptop doesn\\'t have
enough USB ports, you use a 4-port powered USB 3.0 hub. What issues could be caused by the use of USB 3.0 that
will impact your site survey?

A. It does not give you enough bandwidth to collect data coming from all of the adapters.

B. It does not give you enough power for all four of your adapters.

C. It generates noise in the 2.4 GHz band, giving you a false perception of the noise floor.

D. It generates noise in the 5 GHz band, giving you a false perception of the noise floor.

Correct Answer: C

Reference: https://support.ekahau.com/hc/en-us/articles/235437007-USB-3-0-Causing-High-Noise-Floorand-Its-Impact-
on-Site-Surveys

QUESTION 2

During an RFP analysis, one of the vendors mentioned that you\\'ll need to upgrade your Gigabit Ethernet switches to
MultiGig switches to ensure support for 802.11ac and 802.11ax, which both offer data rates over 1Gbps. Why is this not
sound advice?

A. Because neither of the technologies support data rates over 1Gbps

B. Because 802.11ax doesn\\'t support channel bonding

C. Management overhead that is normal in WLANs will reduce the throughput of the client devices

D. Because 802.11ac only supports one spatial stream

Correct Answer: C

QUESTION 3

When deploying a new WLAN infrastructure using PoE to power the APs, you realize that a known good AP is not
powering up. You use the same cable to connect your laptop and connect without any trouble. What is the most likely
reason the AP did not power up?

A. Missing AP licenses in the controller

B. Spanning-tree convergence

C. Layer 3 routing

D. Lack of PoE budget on the switch

Correct Answer: D
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QUESTION 4

In what circumstance would you not enable DFS channels on a WLAN infrastructure?
A. In any stadium

B. In any office complex

C. In an airport

D. In any home office

Correct Answer: C

Reference: https://netbeez.net/blog/dfs-channels-wifi/

QUESTION 5

When deploying APs outdoors, what additional component needs to be used that is not needed indoors?
A. Antennas

B. NEMA enclosures

C. Ethernet cables

D. PoE

Correct Answer: B
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